3 peHb, 2 Hegenu

3Hepret Na
[Mpuem nuwu, HaumeHosaHue 6nwaa Macca nopuuu Muwessle sewecTsa u- BuTaMuHbL MuHepanbHble BewecTea peuen-
YeCHaA TVDbLI
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Kawa "Opyxba" mono4Han XuaKas ¢ Macnom 180 5 T 19 224 0,09 2,13| 123,30 0,65 0,33| 299,60 23,50 277,60 0,77 150,60 35,31 0,08 5,56 TTK
Yait ¢ MONoKoM 1 caxapom 180 3 52 25 123 0 0,2 0 o] 0,03 6,15 4,8 9,33 0,85 26,1 0 0 0] TTK
BaToH fiogupoBaHHbIA 30 1,6 07 11 63| 0,06 0 0 0| 0,03 6,7 1,0 26,5 07| 395 1,09 0 ol TTK
Macno cnvweodyHoe nopuvsamu 10 0 6 0 67| 0,06 0,14 63,1 0,24 0,08| 183,79 12,26 112,95 0,06| 28,33 0,00( 0,01 0,0 TTK

WUtoro 3a 3aeTpak 400 10 20 55 477 0,2 25 18564 0,9 0,5 496,2 4186 426,4 24| 2445 364 01 56

2 3aBTpak
OpyKT 85 | 0,41 0,4| Q.Bl 47.D| 0,D2| 7‘ 0] 1 I 0.02' 14,0| B.OI 14,0| 5,30| 140,0! U,Ol 1,60| 0] TTK
O6en

S:Z:;:g;“““ HERAHT AT PR 180 5 4 11 163| 0,33| 1560 0,99 o| oss| 2530 2560 880l 2.23|42230| 7030|008 o008 TTK
MeyeHb No-CTPOroHOBCKN 70 18 11 28 163| 0,19| 19,50| 31,00 0,21 0,18 44,25 41,60 179,20 2,20| 656,00f 205,00] 0,01 0,02| TTK
Puc oTBapHo#n 130 3 5 37 207! 0,09] 0,02 17 0,06 0,23| 21,60 9,33 60,1 0,02 0,98 0 0 0| TTK
HanuTok U3 LWVMNoBHWKa 1 u3loma 180 1 0 28 125 0 0,3 a8 0| 0,03 12,5 6,5 4] 0,80 241 0 0 0,55 TTK
Xneb pxaHon 50 3 0,5 11 63] 0,05 0 ] 0 0,03 3,8 39 17.5 0,9 215 1,15 0 0] TTK

Wroro 3a O6epn 610 10 7 115 721 07| 354 87,0 0,3 1,01 1075 86,9 344.8 6,2{1341,8 276,51 01 0,7

YnnoTHeHHbIA NONOHKWK

Kawa rpeyHesan MONaYHan XWAKanA C Macnom 180 7 6 12 138| 0,06 0 35| 0,30 0,08 18,60 15,30 68,60 1,4| 6530 60,20 0 of TTK
Batpyluka c Teoparom 75 3 7 41 168| 0,05 0 0 0 0,02 6,6 99 25,5 06 39,3 1,08 0 0| TTK
Yai ¢ HUaKum coaepxaHueM caxapa 180 o} 0 3 54 0 0.1 0 0| 0,01 5,15 4.4 8,24 0.01 15,1 0 0 0] TTK

Wroro 3a MongHuk 435 10 13 56 360 0,13 2,68 1,6 42,00 0,2 34,6 50,90 43,5 2,90] 344,30 99,08{ 0,02| 15,62

Wroro 3a nekls 1530 58 67 278 1605 1,01 23,4 2750 43,2 1,6 6383 179.4 814,7 11,4 1930,6 411,9] 0,2 21,8




